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-I'hircl Semcstcr Il.lr./Ii.-l'e ch. Dcgrcc [ixaminatiotr, .lttnt/,lrrlr' 202"1

AV Mathematic$ * lll for ECiBM Engineering

Ti*e: -l l"rrs. N{ar \1arks: 100

Notc: l. Atrsrr,er un1: I,'ll'E.fitll rluestions, t'ltoosing ONI'- full qrtaslion.fronr euclt ntolrrle'

2.1/TLil,.ormulallrtntlRookuntlstoti'sticttltlbl.aarcpcrmitted,
3. ll: l(arks,l,: Illoont's let'cl , C: Courst: otttcon'es'

USN
BNIATEC3Ol/BBN'I3() I

)Iotlule - I N{ I, C

Q.l a. F,*i th. F;*i.. t*i.'.t t,
- K. irr ( -n.0 t

t(x)-
L K irr ((1.;1)

rtll
=l- t -- 1.......4 3 s]

ancl hcnci: riecltrcc

6 t,2 co1

b. f:*pina f1x;- 2.- 1 as a ccrsi:tc half l'ansc lrourier scrics in 0'< x < I 7 L2 col

C. E^"*'* ),"*, f,*Io. scries ttpttl thc tlrst hatur.lnics givcn thc follorl'rrlg

values:
x 0 1 23 4 5

4 8 15 1 b )

7 t,l col

OR

Q.2 a. r',,.,a tr,.-eur*;;;ia" fbt {ix) - x - "' i,.,-l 
< x < I 6 t,2 coI

b. S1"* tl",t I*11',-,rng. .ir" teries ol
i(x) : rx - ^t 

in tlie interval (0. n) is

a'l
/r 1 1.^ L'

ll h {r (-ll f l,

7 r,2 cor

c. Obtain thc
ncl bFouricr scrics ol- r' ttpl.o 2"" harlntlnics r) rs grt ctt

x 0 xl3 2nl3 ,I 4r.13 5ni 3 2n

r(x) 1.98 1 .30 I .0s l.l0 -0.88 -0.15 1.9E

7 I,3 col

Module - 2

Q.3 a.

[r-*'. ix].tf(x)=l I I

I u lr]ul

I \ COS \ 'SII] X

rndltcttcciindllrcrllLrcol. | ; " (1\
J\

0

6 L2 co2

b. Fir,i th. It,rrt"-i*'r,I.,.t .utine translbt'tl-t of fir) - e 'r'

Solve thc itrte gral ccllratiort 
J, 
l't',.u: r tu tl() : 1 ,,.

isinrt
cva luatc I ;- tlt ,

i r'

rr>0.

(l<uiI
lrrrtl ltcttr- c

tr>1

7 1,2 co2

C.

7 I,3 co2
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OR

Q.,{ il. l''ind thc Fouricr Lransfirrnr ol c " '' . a -:'0. 6 1,2 co2

b. Find the Irorrrier sine transfi)nll o1' 1'(x)- e ' atttl hettce evalLtate

,' r sirt nts
| , . dx.ttr>o
i l+x

7 L2 c02

c. ["inri the cliscrctc For.rrir'r transibntt rtl-the seqtrcltcc { l, 2" I, 3l 7 L3 c02

Module - 3

Q.s a. Oblain thc Z-tlanslornr i1 Ciosn0 ii) Sinnt) 6 L2 c03

b.
.tz I _z

Find thc invclsc Z tlrurslbrnr ol
(-sz-i)(52+2)

7 L2 c()3

C. Solve b,v Lrsing Z-transfbrrrrs : yn;: - 2y,r-i -t y,r: n u'ith 1'9 - 0 "'y, 7 L3 c()3

OR

Q.6 a. '-,,,[]r).,Iind thc Z-transtirrrr ot']n
6 L2 co3

b.
4r) -)-,ItrnJ tlrt' inr er:e 1-tr arrs[orrri r-r l'

ta l\ta )\
\r t)\t .t

7 L2 c03

c,
)t,: -32+l)

(z-tf fintl the valLre 0l'urr, Lrr, Lr.:.

7 L3 c03

Nlodule - 4

Q.7 a. Solve (D* I 8I)' - l6) y ='0. 6 LI co1

b. sntr,. {{-*.!,t. I 3y = e" cosh 2t
L? co4

c. Solvc r'r ' ,t)"' , x!" + 8)'- (r-5 cos 1logx). 7 L3 co4

OR

Q.tl :t. Solve )"' t 9y =' cos 2x cosx. 6 L2 co4

ll. Solvc (2x+ l)ty" 2(2x rl)y'-l2y-6r+5. 7 1,2 c04

c. In an L.CIR cjlcrrit, tl.re cirarge cl on a piate ol'a condcnscr is gir"cn

tl-u tlrt (1L ,*+ lt - 1, I - tisinpt. Solvc thc cqr-ration forc1.
rit' dr c

by 7 t-3 co4
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Module - 5

Q.e a. 01lo!\,

X 50 10 i(x) 120

v t2 l5 21 25

Irit a straight linc lir thc fbllo dat 6 I,I co5

b. Obtain thc lincs o['r'cgrcssion iincl hcncc lrnci thc coe lllcicrrt of'currelatiorr
tirr thc iiata:

C' o nrp u t c t ir e- ra nk c,g ! qllllgll o_c.[] c191.t L11 t h_c_ lb l l o ul 1g4l!1coil'c lol.l coclllclcnt lor tlrc lo
x 68 63 15 _s0 62 80 78 40 55 60

62 58 68 4_s 8l 60 68 ,18 .50 10

x 1 2 -l 1 5 6 7

9 8 10 t2 1i I] 1.1

'l t,2 (05

c. 7 1,.1 co5

oR
Q.l0 a. An expcrirrcnt on lilc tinrc 't' of- cLrtting tool lt dill'ercnt cLrtting specds

1,(units) are gilen bclou,

Fit a rclalion olthc

Sncccl (r') L50 400 500 60t)

Lifb (t) 6l )6 1 2.6

lbrn.r v -

6 t.2 C()5

b. Thc tbllou,ing clata givcs thc agc of husbatrcl (x) ancl

years. Fonn thc 2 r'egressjon lirres and calculate
thc agc o1- u,ilc (y) irr

thc agc ol irusbard
comespontiing to 16 fageoluili,o ot aue of \\ rle.

X J6 2l 2l )o
- () I 28 2tr .r{) -l I -t.1 15

29 ]E 20 22 21 )1 fo tr I to )r
L, | ",

7 L2 co5

c. Ilthc cocl'llcicnt ol'corrclation bctrvcen tlrc variablcs x and v is 0.5 ancl the

acr:tc anglc bctrvecn thcir lines o1- regression is tanr(3r-i1 . Show that

o,,, - 2o..

7 t,-1 co5
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'f hird Semester ll.l,,./B.'l-cch. Degrec Iixaminationo .lunei.lulv 202,1

Digital $ystem Design using Verilog
'l'irne: .l hrs. \Ja.r.. llarks: I 00

,\9te: l, .,1nsx'u un.t' I;ll'li.firll rltrcsliotrs, t'hort.sitrg 0,\tl'. fill quoslirttr.fi'ttrn t:uclr rttrttltrlc.

2. ,11 : -1lurk.s, L: lJlortttr'.c l(vd , C: Cttrrvst'ot.ttct)ttt(s.

BEC3O2
USN

\'lodulc - I ]T I, (l

Q.1 a. Deflnc conrbinatiottnl logic. (iivc t'"1'o cxatllpics. l I,1 (.o1

b. Bxplain tl're procedr-ii-c to place a sLrm of prodr-rcts crlLtafion irrto canottical

form. Irxpress the lirrtctiolr P: (a. b. c): A[]'-'t]c' r bc itr catrttnical fbrttl.
6 t,2 CO1

C. Solve the flnction K ,= (u,. x. .v. z) -, :(0. 1. 1. 5. 9. ll, ll, 15) Lrsini

Karnaugh map.

l t_2 c()I

d. Sinrplit-v tirc lirnction Ir - 1(l). Q. If . S) '' ) nr ((). l. 5" (r. 7 11. l:l) Lisirrg

Quinc-NIcC'lLrskcy tuctirod.

6 t.2 (.01

OR

Q.2 a. I)ef'ine canonical sur.n of prociticts antl canonical proclLrct of surtts. Ciivc

eramplcs.

4 t,l cor

b. Erpiain tlte proceclr.rr-e to ltluce a proclLrct o1'.rrnrs cqttal irrtt ittto crttiottical

lirrnr. Explajn thc Iirrrction'I''- 11a, b. c) " (a i tr') ttr' c) tn cattotlical
lbnr.

6 1.2 ('ol

c. Solvc thc lirnclion (i " Iia. b. c" ti) r(0. 11.5.7. S.9. ll. ll. 11. l5)irsing
Karnaugh map.

1 1.2 (.oI

d. Sirlplify tire lirnction F - (P, Q. R, S) =' Inr(1.2.3.5.9, 10, l2) trsirrg

Qu inc-McCluskcy n.rcthod.

6 L2 COI

Module - 2

Q.3 a, Define cncoder. Writc thc tntth table. ecluations and circLrit cliligrarr ol li
to 3 - linc priority ctrcodcr.

I I,I co2

b. Erplain tlre conccpt ctl'calrr.lorrkahuad addcr ri,ith t'cllttcti ccltraticlns irtttl

biock cliagranr.

6 1,2 (.o2

c. Dcsign onc-bit coit.]paralor u'ith iltpr-rls A1. l)1 bits 1o bc corlrpalctl. (i1. li,,

[,.i prcvious stauc irtltLrts artcl r'r.it]l thc tirttllLlts G,,r.l;; .r. l-r r.

6 t,,1 c02

d. lnrplcrnent thc lirnction I(ri'. r. .v. t) "'Irl(0. 1, -5. 6. 7. 9. ll. l5) trsirrg

8 to' 1 - linc rnultiplcxcr.
4 L.1 (.o2

1 ol-.1
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oR
Q.l ..1 . I)ct'inc rlccoclcr. \\'riLc thc tn-rtlr tliirlc. eclLlittir)ns rncl circuit tliagrant ill J -

to - 8 -- linc dceodcr.

4 LI co2

b. I:xplain tire opelatiorr of 8 to - I line irrultrplerer rvith block cliagrarn,

tnrth tablc, cqLralion.

6 L2 co2

c" Constn-rct palallel binarl.'acJcler','subtractol trsing lirli acldcl block and

Ir.\-OR. gatcs. ,{lso cxplaiu the opcration of it.
6 L3 co2

d. I)csign tu o-bi1 cr)nrpariit()r Lrsirrg cascurlc conncction oi' one-bit
corlrp.'Lretors lirtri t' rp llt i n its o Itr'tiltio r'].

I L4 c02

i\lorlule -- 3

Q.s 1t. Statc transparcnc\'llrollcrty in Iatches. \Vhat is tlrc nccti ior ntaster-slave
f-lip llops'?

I L1 co3

b. With ncat block ciiaglarr and trutlt-Lirblc cxplain Lhe operation ol'nrastcr-
slarc.lK t1ip11op.

6 L2 c03

c. [)csign ir svnchlorroiis rnoc]-6 coLlt]ter using .lK flipllops. 6 L1 c03

d. Irnplemelrt mod-4-ring collllter using shift registers. 4 L3 c03

oR
Q.6 a. l)cllnc lcgistcr.ind sliili rcgistcr. \'fcntit.,rr trl'o applications ol'shili

rcgistcrs.

4 I,I c03

b" \\'ith logic tliagranr ancl tinrins cliagran'r c.rpirin the opcraltou of positirc
erlgc triggclcil I)-ilip 11op.

6 t,2 cC)3

c" l)c\isn .r ftrLrr-irjt blrrrrr,r'rrpplc up-courrler r.ritlr lou.ic diirgranr and cotrnting
sr(lucricc lnd bricIl,r erpIriin ils opcr;itirin.

6 1,1 c03

d. Iniplcrncnt N'lod-ii tn istcii riirg countel trsing shilt registcrs anil u,ritc the

c0rilrt scqur-ncc.

4 I,3 c03

Module - 4

Q.7 a. I-ist thc cii1.1i'r'crrt lclutionalopcrators availabl,; in vcnlog lansLtasc. 4 LI co4

b. i:xplain dil'lcrcnt vcriloq clale tvpcs u'ith cxrrrnplcs. 6 L2 c04

Fol tlrc cir-cLril diagllinr shori'n in Iig.Q 7(c). do,clop lr r,cr.ilog llrosrarr
thc output Y iu: i) t!airr llori' dcscr"iplion ri) bchavioral dcscription.

fbr

A

vIo'

6 I-3 CO,1

2 o1'3



Illr(.3{)2

d. Devclol.l a vcrilog progralr to irrplorrcnt 2 r I urLrltiplexct'Lrsinu
cunditional opcrator. Also u,rrtc thc truth tablc ol'2 r 1 nruItiplcxcr.

4 t,1 (.o4

OR

Q.8 21. t,ist thc clrllercnl stvles o1-clcscriptions in i,erilog llrogranmring. I t.l (.()1

tr. Irxplain veliLog shifi opcratcrrs ancl aritl;:r-rctic shr1l opcralols u rth cxamplcs. 6 t7 ( l( )-1

C. Lct A ,.., 5'bll0il. IJ .. 5'b1()101. C '" zl'ci-l Dcterrlinc llrc oLrtpr-rt oI tht:

Ib ilovi,ing vcri lilg program statcnrcnts:

i) d ,., &A ii) c "' -' 4'bl0ll iii) i - -(.\ & (^'tl))

iv) g - A i3 ,,,) $: I *'r I vi)i'- il lAl i.

{, l_3 (.( ),1

d. f)cvclop a vcrilog. l)rosranr firr hall'subtmc',or using rllttlr flirtl dtsclrf trrrn
stylc b_"- pror icling lrLith lablc' ltnrl crpt'cssiot.ts.

,l 1,1 ( '( ),{

\lodrrlc -- 5

Q.e a. WriLc the r erilog lirrnrat o ['i1-clse statcntctlt and crplain rl .1 t-1 c()l

b. L.xplain the operntion ol-positive triggcrccl .lK flipllop by'ri'r'iting vcrilog
code using casc statcllront an(i truth tltblc.

6 t,1 ( '( )-l

c. Dcvelop a verilog irchar,ioral clescription codc lirr calculafing the lirctorial
o l- positir.c integers.

6 I_l CO,l

d. lJo,clol'r a vcrikrg progranr lirr I)-latcir trsing bclirvioral clcsct'iption st1'le by
provicling lruth tab1c.

"l L-t COI

OR

Q.10 a. Writc the vcrilog lornlrt of casc staterlre nt and cxplain it. I Ll (.oJ

b. I;xplain the oyrcration tll' 2-to- l-lirtc rtrtiltiplcxer by' ri'r'iting \icrilog
structural clescription progranr end block clilgrartt.

6 1,2 ( o"l

c. Dcvclop a verilog bclravioral desct'iption coclc 1'or tlrrcc-bit blnarl,'Lrp
c0Lr ntcr.

6 I,3 ('( );1

d. Dcvclol'r a r,,cnlog progrullr lirr hall'adder r.rsing slruclLttitl tlcscription stl'1c

bv providing tr uth tabic an(l crprcssiorts,
4 I,1 (lO.l

3 of 3
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Third Semester B.E./B.Tech. Degree Examination, June/July 2024
Electronic Principles and Gircuits

Time: 3 hrs. Max. l\4arks: 100
Note: l. Atrsn'er eny Fll'F.f'ull qnestiou,s, e'hrtosing ONE./ill rltrcsliotr from euch modult:.

2. M : ,lIrrrks , L: Bloout's lercl , C: Course ottt(omes.

BEC303USN

l\{ndulc - I M L C

Q.1 a, With a ncat circuit ciiagram. cxplain thc voltagc clivicicr hiasrng circuit and

el:t, tlcrir c tlrc cxprcs:itrrt.
10 I,3 cor

b. What is tlre collector-cnrittcr r,oltasc t0 t,3 coi

OR
Q.2 a. Witlr diaeranr explain thc tr,i'o transistot's tttodcl. Also clcrivc 21,,([rasc). l0 T,3 co1

b. Expiain thc basc biasccl amplrllcr crrctrit. Also cxplain r\C-- cqtrivalcrrl
c ircr"r it.

10 1,3 c()l

Module - 2

Q.3 a. With diagram cxplain the cnhancer.r.rcnt nrodcl MOSI"'11l'. l)rarv t)t'ain and

Transcortciuctance cLlrvc.

10 I,3 co2

b. Dcrivc an cxprcssion of io - Vr;s rclalionship o1'NlVlOS tratlsistor. l0 [,3 coz
OR

Q.4 a. Derive an cxpression of'DCl bias point arrd voltagc gain o{'slnall signal

opcration of MOSFI-1'.
1() I,3 c02

b. With a ncat cliirgrau crplain thc N{OSFEI' -f-cqLtivaicnt circuit. IO I-3 co2,
l{odule - 3

Q.s a, With diasrarl crrrlain thc IL-2R ADC convcrtct'dcrit'c V,.,,, . 10 [,3 c03
b. I)erive V,.1- atrci f; o l- corr-r;rariltors with notl zcro rc1.:t'cncc to llncar

Amplificr'.
10 [,3 co3

OR

Q.6 a. With ncat diagram explaitr tlic opcratiortal iltnplif-icr basc u,'r:irt hriclcc

oscillator circuit.
l(.| I,3 c03

b. Explain tltc opet'atrorr ol'l{C- lrltasc shili oscillator. 10 I,3 [](]3
Module - 4

Q.7 a. Bricfly cxplain tlrc fbur typcs ol'ncgittivc fccdback. 1t) I,3 co4
b. Wrth diagrarm cxplain thc iCVS amplif icl e ircrrit. 10 I,3 c04

OR
o.8 L. With diagram cxplain thc passbanrl atlc'l stopl-rancl attcnualion. 10 I,3 co4

b. Explain rvith circuit cliagranr of \r('VS I{igh pass t'iltcr, 10 L3 co4
Module - 5

o.9 L, With ncat diagranr cxplain the DC and A(l trvo load lirrc of'lDQ qlpll!]c1, 10 1,3 cos
b. Derrr.'e an expressiott o1'A,, ol Class A po\\'cr anlplillcr. 10 t.3 co5

OR

Q.10 L. With circuit ancl r,vavclorrn cx1-rlarn thc l-4, RCI triggcring cit'.'trit. 10 [,3 co5
1.i,1 lr1.^ T n 1.. 0 co{

vcc ; IDV

l, e-

3 6K"4-
){r14.,
t|,J'te

Bc
\Kr-

irrc.Ol(b)

1
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Time: 3 hrs.

Third Semester B.E./B.Tech. Degree Examination, June/July 2024
Network Analy$Ss'

-5 'ill ':'

l,lote: l. Arrsy)er any FIVE Jitll questions, choosittg ONE fitll question Jfutnt esch module.
1 ir. tn..,,r,,, l. 12I^^,,.r,. t.,.,,,1 /" f ,,,,oor,,,,1?^a,r,c2. M : Morks, L: Blaom's level , C: Course outcomes.

Max. Marks: 100

Module - I M L C

Q.1 a. RedLrce the network shown in Fig. Ql (a) to a single
series r,vith resistance between term inals A and

translbrrnation and source shiftrng techniclue.

i6-"-
.--'.u'l{l-1*--n t n

voltage source in

B. Use source

n

Oa a
/ Ql/

Fig" Ql (a)

10 L3 co1

b. Determine voltage
aniilysis.

V3 tn the circuit

t,r /l\'\) - ;

using loop

.:. .....:):.:1.

t, 

'a';l

10 L3 col

OR

Q.2 a. For the networl< sho',vn in Fig. Q2 (a), compute all nodc- voltages V1, V3, V3

rde analysis.
.rand

Sa*
q

{*

/') ^

8 L3 col

I o1'5

rie Q1 (b)

$v



BEC304

b. Dctcmrine the equivalcnt resistance betwecn terrninal A and B, in the
neniork shown in Fig. Q2 (b), using star Delta transfontration.

b -/L
$ c"<lv!14-

€-n*

Fig. Q2 (b)

7 L3 co1

C. Find the potcnlial difi'erence between terrninals M and N in
shown in Fig Q2 (c), using source tlanslbrmation.

]4r
. .3-rr-

IUV

Q*"

Fig. Q2 (c)

5 L3 col

Module - 2

Q.3 a. Determine the voltage across 2Q lesistor in the circLiit sholvn in lri_e. Q3 (a).
using the super po

Fig Q3 (a)

10 L3 co2

b.

,,, 
,,r,

'.ta.:...

Find Tlievenin's eqLr

Fig. Q3 (b)
ivalent at terminal A and B, in the network shorvn in

Fie Q3 (b)

10 L3 co2

2 of 5

['5-1*

luv

t:J4-

a-
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OR
Q.4 il. Detennine the load resistance to receive maxiuruu power from the source"

Also find the maximurr power deliverecl b the load in the circuit shou'n in
Ijig. Q4 1a1

I UUV

8 L3 co2

b. For the circuit shorvn irr Fig. Q4 (h
theorem.

Fie Qa (b)

8 L3 co2

c, State Millman's theorem. 4 L2 co2

Moilule - 3

Q.s a. ln the netrvork shou,n in Fig. Q5 (a), a switch K is

di di.
dr dt

closedatt:0.

'.,V*{d.}z
{rlSiau}L

10 I,3 co3

b. ln the Netrvork shown in Fig. Q5 (b), the switch K is changed position fiorn

atobatt-o Solvei.,ri t. ! .,,-: 0'. 'l'[re circuit is reached steady

state belore switching.

' 
't a,.. .

l A,,
tvvY

rit ' dt:

Fie Q5 (b)

LI-I
Ir, 0'lill tx

l0 L3 co3

3 of 5

Fig Qa (a)

Fig Q5 (a)
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OR

Q.6 L. In the nctwork shown in Fig. Q6 (a), steady state has been reached with
switch K open. At time t : 0, the switch is closed. Deteremine the value of
V,10"1 and V,(01 at t - 0 .

rig. Q6 (a)

10 L3 co3

b. In tlre network shown in Fig.
closed. At t : 0. srvitch is

dV " att:o
dt

Q6 0), a steady state is reached with srvrtch K
opened. l)etermine voltage across switch V6,

Fie. Q6 (b)

10 L3 co3

Module - 4

Q.7 a. State and prove inrtial and final value theorem in Laplace transfbrntation. 10 L3 co3

b. Obtarn the I-aplace transfbrrr ol
Assume that wavefonl is periodic.

tire ivavefbrrr shou,n ln Fig O1 (b)

Fig Q7 (b)

10 L3 co3

OR

Q.8 a.

,V:,,,,,,,,."

ln the series Rl- crrcuit siiown in Fig. Q8 (a), the source

V(t) = 50srn 2501V. tJsing Laplacc transfbrm determine the
voltage is

current i(t)

Fig. Q8 (a)

0'CIo rit

10 L3 co3

4 o1'5

I^,(4) I
ta'

v{r,
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b. 10 I,3 co3

Nlodule - 5

Q.e a.

)2

t
I

Vr
t
V2

.t\

10 I,3 co4

b. A series llLC circLiit has a resistance of 10 Q, an

capacitance of 100 pF. The applied voltage is

ltecluency, lorver ancl ttpper cut-off lieqtrencit

f0.3Handa
234 Resonance

at resonance,

current at fr and f), voltage across inductance at

t0 I,3 co4

OR

Q.10 a. Derive Z-parameters in ternts olll paratlcter. 8 I,3 co4

b. Find the value of L fbr which
1000 rad/sec. tbi the circuit shown

the circuit resonates

Q10 (b).
at fr ency of

.:,,,

{tl*,.r;

* sll--n-

7 L3 co4

c lloi* tt.- relation between resonating fi-equency and half porver

lieqLtencies ie. f , - ,/ t', l'.

5 t,2 co4

: .,........-'

5 of 5

I;ind t-aplace transform of the wavefornr showu in Fig. Q8 (b).

Fint) Z and ABCD parameters lbr the network shown in Fig. Q9 (a). Also

verify whether network is Reciprocal or Syrmetncai.

5**-
A

Irig. Q9 (a)

Fie Ql0 (b)
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GomPuter Organization

Time: 3 hrs. Max" Marks: 100

OllE fitll question from eaclt module'Note: 1. Answer any FIYE full questions,

2. M : Murks, L: Bloom's level , C:, ,

Module * I M L C

With a neat diagram, describe
exatttples ftlr l/O.

the functional units of a computer. Give 10 L2 col
Q.1 a.

b. W.it. "ttr"bly 
language program tbr X : (A * B) + (C x D) using one

vrdrlrec,r two nrldress^ and three address instructions fonnats.

06 L3 co1

c. Explain the Bus structures. 04 L2 co1
OR

@
,C MAR MDR. IR.

ncepts in a comPuter 10 L2 col
Q.2 a. With a neat diagram,

l.i.'hlirrlrlino tlre rnle of ]l
06 L3 co1

b. Discuss IEEE standard

^,.ir.f nrrrnherq rvith star
for single precision and

rlard notations.
double preclslon rloarmg

04 L3 co1
c. Distinguish between B

With a neat sketch, shc

methods.

ig-endiar-r and Little-endtan memory_ asslgnrrlenl' 
I

,i" ho* the value 26789435 is stored using these 
I

I

llodule -Z ,, ; loT L2-1 co2
Q.3 a,

b. segment illustrate

pirrameter pass ing r-rsing register

05

05

L2 co2

L2 c02
c. F,,.lri. variorrq assembler directives used in assembly language prograrn'

'oR
atoT u2T cozffihurgry*pl",--o.4 a,

b. Erlrt"* th" th,ft and rotate opet'ations with examples' 06 L2 co2

c.
"'-l- --^-- ---- -

Writ. a program to u 04 L3 co2
Module - 3

t.il.rt1g.,t"tt", in I/O interface' Explain
'rrrt-

10 L2 c03
Q.s a, Showing the possible regisr

.rn,rrqhl r.^r.f rnl led inrrt rt/otttr

b. capable of
resolve the

10 L2 c03

.}R
concept of interruPt 10 L2 c03

o.6 a, What is an
jn a-DMA interface to illustrate DMA' 10 L2 cC)3

b. Explain the Register i4Y91Yg

O.7 I a.

Module - 4

orv organLization.

10 L2 C(iA

10 L2 CQ4
_l !._ I YY lLrr 4 rrv.rr urlr5rsrrr, vrrr!*^^' ' -^ --'

lClassify rnernorY in a conlpLrtr

i clganizatron of,2M " 8 DRAM ch

I gri"fly explaur secoudary {olage

()R
;. V/ith a neat diagram' describe the

ip. r.WTco4
Q.8 L,

06 L2 co4
b. devtces.

04 L2 co4
c. Exnlain use ola cache metrorll

1 ofZ

Define acldressing mode. Explarn any lrve addresslng mooe wItIl sylrtil^ drru

^.,,, *^ I ^.-
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Module - 5

Q.e L. List different ways of improving CPU performance. With a neat diagram,

discuss three-bus organization of- CPU.

10 L2 co5

b. Discuss Hardwired control unit organization with
illustrate the logic to generate Z;n control signal.

relevant diagrams and 10 L3 cos

OR

Q.10 a. Explain single-br-rs organization of data path in a processor

diagram, highlight the irnportance of gating signals'
with neat l0 L2 cos

b. I)evelop the complete control signal sequence

R3 with appropriate remarks.

for the instruction Add(Rr), 06 L3 co5

c. D".** t-nicro programmed control unit design with relevant diagrams. 04 L2 cos

',,

:. -,.iiali.

u1i. Ir*!r,
,,,rtii{: 

.q_*

,li -,i

:1. ' ..t'
,: i................:
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